,—[ INSTRUCTIONS ]—

1. Please correctly fill your Roll Number in O.M.R. Sheet.
Candidate will themself be responsible for filling wrong
Roll No.

2. At the start of the examination before attempting the
question paper kindly check your question booklet and
OMR Answer Sheet and ensure that :

* The serial numbers of question booklet and OMR
answer sheet are same.

*  All pages of question booklet and OMR answer sheet
are properly printed. All questions from S.No. 1 to last
S.No. 150 are printed and pages from S.No. 1 to last
S. No. 16 are there in the question booklet.

serially as (A), (B), (C), (D). You have to darken only
one circle or bubble indicating the correct answer on
the Answer Sheet using BLUE BALL POINT PEN.
8. There will be no negative marking for wrong answer.
9. Use of Mobile Phone/Bluetooth Devices or any other
electronic gadget in the examination hall is strictly
prohibited. If any such prohibited material found with
any candidate, strict action will be taken againstthim/
her as per rule.
10.If there is any sort of ambiguity/mistake eithetfof
printing or factual nature in Hindi and English Version
of the question, the English Version will bgntreated as
standard.
Warning : If a candidate is found copying orif any
unauthorized material is found in his‘her p@ssession, E.I.R.
would be lodged against him/her in the Police Station‘and
he/she would liable to be prosecuted under Sectionr3 of
the State Prevention of Unfair meamspAct, 1992 and
Board Regulations. Board may alsendebar him/her
permanently from all future examinations ofithe Board.
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Enlargement of thyroid gland is due to
deficiency of

(A) Viamin A (B) Todine
(C) lron (D) Biotin
YTEES Ui ol Teem] %1 BAT B HTLT Bl F |
(A) faeri g (B) amarEm
(C) sm (D) ImEies

In Microsoft Word 2016, watermark option is

available in menu,
(A) Insert (B)Y View
(C) Review (D) Design

HiEgshiEwe g9 2016 7 dietHTh fasmbed A A
e 2

(A) & (B) 7

© =g (D) Fesmes

Choose the correct Hindi translation of the
following word :

Affidavit :
(A) agrEaT GERERE|
(C) sftgew &gpld (D) @ 7

The diagonal of square is 20 cm, then perimeter
of the square must be :
(A) 40 cm (B)Y 200 c¢cm

(C) 4042 cm (D) 1042 cm
U 71 o {aqepvl @ g 20 S €, o 3" ghmy
@"Tl—

(A) 40 oy (B} 200 ¥y

(€) 402 & (D) 1042 &
'Erythroblastosis foetalis’ is a disease caused by
Rh factor, in which death of ¢hild oecurs?
(A) First (B) Second

(Cy Third (D) Fourth

TR Hiefad U T & oaseRh) ®3F &
HIRYT ded A g @l Sl B

(A) wem (B) faar

(C) T (D) =g

The enzymes that cuts DNA molecule at specific
sites is —

(A) DNA ligases

(B)Y Alkaline phosphatases

(Cy DNA polymerases

(D) Restriction endonucleases

SR, Y] ! fafiTe @l T e a UeEd
B ¥

(A) SITH.U. =

(B) &l widhess

(C) INUA.T. g T

(D) ey =g
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The chromosomes in eucaryotic organisms are best
studied at :

(A) G, stage (B)Y S stage

(C) Metaphase (D) Telophase

GebiCaTiie Sl | U b1 SUYHR e fehd st
# fepar o wepar 7
(A) G, sraen

(C) ersa

(B) S araren
(D) Sk

Which one of the following is correct in an
official letter?

{A) Yours' truly
(C) Yours Truly

(BY Your's truly
(D) Yours truly

In MS-Excel, Insert tab has groups.
THUE-UEAd % 369 o § TH T
(A) 6 (B) 5
(C) 7 (D) 3

The bleaching action of chlorine takes place only
in thelpresence of any one of the following —
(A), Drytair (B) Moisture

(C) Sum light (D) Pure oxygen

AT o1 fardsr o1 Falaiad o o us &1 suild
HR -

(A) = =g
(C) g9 B wH

(B) =
(D) & aaEsH

In which vear, The Rajasthan Panchayat Act was
enacted?

ST g Afatre fmg ad § @r fear war o ?
(A) 1954 (B) 1955

(C) 1953 (D) 1956

Which of the following have the largest population
in a food chain?

(A) Producers

(B) Primary consumers

(C) Secondary consumers

{D) Decomposers

uh @rE sjadl 9 Frefafiaa 3 gaife den keaar
2l 8 7

(A) TE®

(B) wrafies ST

(C) Tadas SUHwERT

(D) aHe®

Which of the following part of the Constitution of
India is about governance in states?

fr=feiag o s Sfaam & &F-T 5 Tt o

T & g W &7
(A) VI (B) VII
Q) Iv (D) 1II
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The angles of elevations of the top of a tower
from two points P and Q from the base of tower
and in the same straight line at a distance "a' and
'b' respectively, are complement to each other. The
height of the tower is —

fopet dM & ama & "2 ol b T W U #
oy farg & farg we P @ Q @ S+ 9 AT &% ey
% TTIT BT U TAL % YL £ Al G B A
2l —

(A) ab (B) m
(©) a+b (D) “;b

In graphite, carbon atoms are arranged in layers
of—

(A) Pentagonal rings (B) Hexagonal rings

(C) Heptagonal rings (D) Octagonal rings
THIEE H HEA G [HFH] ULdl & €9 § FARAd
B E7

(A) @i g@g (B) wganig awg
(C) Taarie gag (D) sfwhNi qeg
The square root of 2401 is —

2401 w1 e & —

(A) 41 (B) 49

(C) 51 (D) 39

Tl - B wE wd €
(A) A9 — yRI™ (B) et — idg
C) m-=g (D) ™ - @

Famous 'Chitrashala’ is situated in the Royal Palace
of .

(A) Jodhpur (B) Bundi

(Cy Amer (D) Kota

uias Tamemer % 9T gedt ¥ flaa %)
(A) =egR (B) &

(C) @M (D) =i

What was the installed capacity of power in
Rajasthan upto December 2021?

(A) 20762 megawatt (B) 23321 megawatt
(C) 31310 megawatt (D) 21979 megawatt
femmt 2021 7% TSI Fe @ eifumiiud e
feparT ot ?

(A) 20762 wrare
(C) 31310 FmEmE

(B) 23321 Tmar=
(D) 21979 TMERE
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Chol, Nicol, Patta, Dukul, Chorso are the different
names of

(A) Angarkha (B) Odhni
(C) Choli (D) Ghaghra
T4 E

(A) e (B) afesr
(C) drelt (D) =T

In exercising his discretionary powers the Governor
of state acts as a representative of -

(A) Council of Ministers

(B) State Legislature

(C) Federal Government

(D) People of the state

e, sl @1 war st wwg veguE fees
AT @™ HY Har & ¢

(At

(B), o9 faumHed

(@) &g "Iy

(D), A9 & ST

Arrange the following ranges of the Himalayas
from North to South order -

(i) Zaskar (ii) Ladakh

(i) Karakoram (iv)y Shiwalik

(A) (iv), (i), (i) and (iii)

(B) (i), (iii), (ii) and (iv)

(C) (i), (iii), (i) and (iv)

(D) (iii), (ii), (i) and (iv)

femmer @1 Frefafad <Eersii B gt & st e
Efted B -

(iy =R (i) EEw

(iii) HHET (iv) fymartas

(A) (iv), (i), (i) =& (iii)

(B) (i), (iii), (i) T (iv)

(C) (i), (i), (i) TF (iv)

(D) (i), (iD), (i) =& (iv)

Which of the following phrases is a substitute for
the word 'Beaver™?

(A) A person who brews liquor illegally

(B) To tear up and damage a living body

(C) Public merry making and procession

(D) An animal that lives in water and land
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Which of the following is not a colloidal system?
(A) Gum

(B)Y Milk

(C) Aqueous solution of urea

(D) Blood

=1 § & @F-a Hess a T 7

(A) T

(B) 7&

(C) gre ®1 e =i

(D) T

Elephantiasis is caused by —
(A) Culex mosquito

(B) Anopheles mosquito
(C) Plasmodium

(D) Wuchereria bancrofti
UfAh2aiaE T B § -
(A) oo "ot 4

(B) Udthell wewt &

(C) wirsiias §

(D) FHLTE S=hwT &

Eight cubes of side 2 cm each are joined to form
a new cube, then the length of the so formed new
cube is —

(A) 2 cm (B) 4 cm

(C) 6 cm (D) 8 cm

2 T T 9T TS Bl Bl ATTE W SI$dh{ Udh 41 3

AT T, 9 39 VB S99 9 =9 %l v €
(A) 2 & (B) 4 &
(C) 6 & (D) 8 &

The maximum number of members permissible in
State Cabinet is —

(A) 10% of the state legislature.

(B)Y 15% of the state legislature.

(C) 15% of the state legislative assémbly.

(D) 10% of the state legislative assemblyz
g Afrisd W TEwl @ sifumgH, S e
(A) =g fagmHsa &1 10%

(B) =g fagmdsa &1 15%

(C) g fagmaT &1 15%

(D) g fagmaeT & 10%

What is the usage of master slide in a PowerPoint?

(A) Provides similarity in formatting in every slide

(B) Adds new slide

(C) Allows you to view all slides together

(D) Both Adds new slide and Allows you to view
all slides together

U Ui § HR2{ WES &l 4] SuaiT &7

(A) &1 &1ZS @l Ueh I WIAE b

(B) = wmEs @

(C) @ w53d ®l Uh wiY 3E

(D) ¥F w138 @FT1 9 W] &IEH &l Uh @19 3@l
el
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Which of the following patent cases has been won
by India in the International Patent Office?

{A) Neem Patent Case

(B) Ginger Patent Case

{(C) Clove Patent Case

(D) Tulsi Patent Case

Frferfea & ¥ SF-91 o= gHaw 9Rd 0 U
Yo SEE H Sl T an?

(A) W Te= B

(B) aTe¥® U |

(C) @ U |

(D) gedl Ui e

The Judge of a High Court will address his letter
of resignation to -

(A) President

{B) Chief Justice of High Court

(C) Gevernor

(D) Chief Justice of India

g ATHIAT bl ~AraTdisT ST F U gaEiyd
GG e

(A)y Uil

(B) <= g & Hed i

(C) ToauTe &t

(D) STId & g&F AT B

Translate the following sentence into English :
I 2 wE wE= B

(A) He / She likes to play tennis.

(B) To play tennis is liked by her.

(C) He / She loved to play tennis,

(D) He / She likes tennis,

A wire is cut into two pieces. The longer piece is
60% of the length of the wire. By how much
percentage is the longer wire longer than shorter
piece?

T AT B N ZhS! H el ST & | g81 ghsl, AL @l
T @ 60% T 1 ZHS1 Bl Zehs  feha Wiswd
T &
(A) 20%
(C) 50%

(B) 40%
(D) 60%

Which of the following districts has second
minimum population density as per 2011 ¢ensus
in Rajasthan?

(A) lJaisalmer (B) Barmer

(C) Bikaner (D) Churu
T | 2011 & SO 6 ATE Fifhd B
A B A fada gaam e e 8 7

(A) SEAAL (B) @reat

() dmr (D) TF
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To move to the next cell in a table, press the

key.
(A) Enter (B) Tab
(C) End (D) Insert
U% <gd H ST A9 X S & oAl il
B UM BT T
(A) d=X (B) =
(€) U= (D) 38

The amount of simple interest on T 4800 at the

rate 5% per annum in 2% vears will be —

T 4800 =t THT 9T 5% aTities Fremn = &l X §
2% aul § sy @ ufdr sl —

(A) T 400
(€) T 600

(B) T 500
(D) T 700

femae ot ® & @1 99w 27
(A) BT THE (B) ogoy wHH
(C) segmmE ™ (D) fay o

Which of the following metals can be extragted
by electrolysis only?

Freifaiaa & o forg arg &1 F=hs™T e e smEe
% FT0 fpar S e &7

(A) Cu (BY Ag

(C) Au (D) Al

Who among the following is not working as Deputy
Governor of Reserve Bank of [ndia?

(A) Shri MK, Jain (B) Dr. M"B, Patra

(Cy Shri M.R. Rao (D) Shri S.C. Murmu
Trrfetiea o & & Toord S i gits & =) Tamt
78 T T E7

(A) & wvd. 94
(C) & waaR. Ud

(B) =i, uAdl umEn
(D) & e AL ¥

Talchhapar Sanctuary is famous for -
(A) Tiger (B} Black bucks
(C) Crocodile (D) Green Pigeon
TSI HWEen fRwe fn ufng ® 7

(A) =9 (B) @ fExer
(C) 910 (D) &0 syt
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Power of a lens is given by the following relation
{where f'is the focal length of lens) -

fepd) ofg Y qern T d9g 4 & o ¥ (9eT £ |
@ wEE T E) -

1

(A) P=f B) P

) P-—

(C) p=y2 7
Sakar Khan was honoured with Padma Shri in

2012 as he was a great exponent of musical
instrument.

(A) Kamayacha (B) Sarangi
(C) Morchang (D) Khartal
TR E@H B 2012 F gt § weia e T it

El @ AT &% G99 93 Jae ¥
(A), FETEAl (B) gy
(C) i (D) @sd™

The students of a class are made to stand in rows.
I35, students are extra in a row, there would be
1 row less. If 3 students are less in a row, there
would be 2 rows more. What is the number of
students in the class?

U BT % [qendE] w dia ¥ ge1 26 § 1 3y gfem
T 3 feremedl atfires w9, @1 1 Ul &9 T afy dfEm
¥ 3 faendl &9 g1, O 2 ulemai Afue a=r) wem §

o=t @ wer fea & 7
(A) 34 (B) 35
(C) 36 (D) 37

What is the common name of Hevea brasifiensis?

{A) Rubber (B) Teak

{(C) Clove (D) Cumin
Eifqar dfforai~ad & | 9 /1§ 7
(A) WX (B) &% (@wram)
(C) =M (D) s

Which sector contributes highest in the gross state
domestic product of Rajasthan?

(A) Agriculture (B) Service

(C) Industry (D) Animal Husbandry
e % Tebd {9 H{q SME H 69 &7 %1 9reH
waitE ¥ ?
(A) P
(C) =

(B) waw
(D) Tyl UwA
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Saint Charandas belongs to which district of
Rajasthan?

(A) Jaipur (B) Bhilwara

(C) Bundi (D) Alwar

9 AUREN ToN & f6e W 8 g9t 87
(A) sHEIT (B) et

(©) 4 (D) #feal

Choose the appropriate indirect narration for the
sentence given :

[ said to her, "Why are you working so hard?"
(A)
(B)

1 asked her why was she working so hard.

1 asked her why had she been working so
hard.

(©)

I asked her why she had been working so

hard.
I asked her why she was working so hard.

(D)

Which of the following revolutionary wrote thé
text named "Chetawani Ra Chungtiyva"?

(A) Kesari Singh Barhath

(B) Bankidas

(C) Pratap Singh Barhath

(D) Shyamaldas

A A gufedr ame @ e, sl g
e & g 7

(A) HEliiz 9@s

(B) wiehE®

(C) wamfle wes

(D) sa™@aEd

TR H IUET T -
(A) &=y suent
(C) Hwpa sumt

(B) i Sus
(D) g uai

DA =W H G IR TR & wiEerE €7

(A) @, gidg, ga
(C) hm, ofyy,

(B) ¢, 41, oig
(D) wiifa, @, =@
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Encephalitis in man is transmitted by which vector?
(A) Culex (B} Anopheles

{C) Bed bug (D) House fly

A9 N gohafed e A o fobw Qe o wiHiaia
T B 7

(A) FETa

(C) @ew

(B) uReeT
(D) =% Fa@

Which of the following is the correct active form

of the sentence —

The bridge was considered a menace to navigation

by the boat owners.

(A) The boat owners had considered the bridge a
menace to navigation.

(B) The boat owners considered the bridge a
fiénace to navigation.

(@) Thg beatsowners consider the bridge a menace
tol navigation.

(D) Theiboat owners have considered the bridge
a menace to navigation.

Which one of the following cities has won the
World Green City Award 20227

(A) Paris (BY Melbourne

(C) Hyderabad (D) Montreal

= o A Ty srex 7 aw W 6 araiE 2022
AT &7

(A) ufd
(C) Tawems

(B) #ea+
(D) =itzawm

If sinA+cosA=m and sin® 4+cos® 4= n, then
which of the following is correct?

afz sind+cosd=m qM sind A+cos A=n ¥,
ar frafafad & € - |98 2 7

(A) md—3mi+n=0 (B) w=3n+2m=0
(C) nP+3m+2n=0 (D) m> =3m+2n=0

Which American computer company is called big
blue?

{A) Microsoft (BY Compaq Corp

(C) IBM (D) Google

HH aTftwT Hrget w9 =g HEedl § 7
(A) ATEHIHTR (B) oifi® g

(C) emddiun (D)
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There is a definite relationship between first two
problem figures. Based on the same relationship
select from answer figures an appropriate figure
to replace the question mark in problem figures.
T2 S TR SOl % arg U MivEa geey ¥ I
Y & AT UL 30 STaal § § Iugad & 999
BINAT o GyAam & W ¢ HT b |

Problem Figures (@wem srpfal)

. . EB 9

1 I I IV
Answer Figures (STt swepfeai)

(A) @ (B) @

(©) @ (D) @

Frfatoa & ¥ fopg ot & W Efg &7
(A) <o (B)
(C) "= (D) =

The Chauhans of Ajmer are also known as™<
(A) Chauhans of Jalore

(BY Chauhans of Ranthambhor

(C) Chauhans of Sapadalaksa

(D) Chauhans of Nadol

ST & B B & T G WS E
(A) SR & AR

(B) oI & SN

(C) HuRad & diEM

(D) 7B % dEE

Which of the following National Parks in Rajasthan
is famous for Birds?

(A) Desert National Park

(B)Y Gir National Park

(C) Keoladeo National Park

(D) Ranthambhore National Park

fermfafiad & & T § siv—ar vy sae il &
fg witeg ® 7

(A) WL A9 Tk

(B) Tt Age U

(C) haeida J99d Urdh

(D) oI 9T UTh
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Which one of the following is not correctly
matched?

Iron - Ore Mining Area  Distriet
(A) Chomu - Samod - Jaipur
(B) Sarai - Pachlangi -  Jhunjhunu
{(C) Neemla - Dausa
(D) Loharpura - Ajmer

fretfefas ¥ & F-aT oF T4 gk T8 37

e — oo ' A forem
(A) oy — drile - AR
(B) =™ — g - =
(C) < — g
(D) weTga ~  FWET

Mathuradas Mathur awardee Aniket Chaudhary is
associated with which of the following sport?
(A) Hockey (B) Cricket

(C), Boxing (D) Archery

HERTETEEIYY JTEhTY O e At ey Frefataa
H g we | wEtad 27

(A) Tt (B) ferdhe

(ChnyAerpaTSit (D) dqrEms

Bpfafad & @ oA dgsy &1 e BiFET &7
(A) sreiidr (B) wfed
(C) wmRas (D) wartEa

What is the share of Rajasthan in total livestock
population of the country as per the Census-2012?
T3] M-2012 % FTHR 397 %6 Fol LA H AT
&1 few fea e ?
(A) 9.4%

(C) 11.5%

(B) 10.2%
(D) 12.6%

About which fort has Hasan Nizami written that
"This is such a fort, whose doors could not be
opened by any invader"?

(A) The Fort of Jaisalmer

(B) The Fort of Jalore

{C) The Fort of Shergarh

(D) The Fort of Siwana

fere fepel & AL o gEw Fwirdt 7 T 9w vEn feeen
¥ forgent cam o sHuETd A& Wid ger’ ?
(A) SHEET BT TR

(B) ST &I foper

(C) Te @1 fmem

(D) Taamm &1 feem
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Thermal power sector

67

Transport sector

Who among the following won the bronze medal
for table tennis at the Asian Cup Table Tennis
Tournament held in Bangkok recently.

(A) Sutirtha Mukherjee

(B) Shreeja Akula

(C) Manika Batra

(D) Ankita Das

T B H Sl § SATIING T HU Sad <ME 2
4 frfaied & § fraq <aw e o Sre e S ?
(A) gfai gad

(B) st srgen

(C) #At® Fqa

(D) sifepar T

Author of "Wolf Hall' trilogy, died recently at the
age of seventy —

(A) Hilary Mantel (B} J.G. Farrell

(C) ILM. Coetzee (D) Peter Carey

Gk BA AT b W@h, T & € H 70 a9
B d H YT 8 T -

(A) feardl weea (B) .. Wi

(C) .. Higs (D) drex &

The total CO, emissions from various sectors are
5 mmt. In the Pie-chart given below, the percentage
contribution of CO, emissions from various sectofs
is indicated :

fate=1 &t & ot CO, I 5 mmt ¥ | S 3@ ™
A ®, fate= &= ¥ CO, Sws & uid| S
arEE IRE e T R

qmE = e

Doinestic sectlor

g o

15%

20% .
Commerecial sector

aiftThas &

30%
EICER I T

What is the absolute CO, emission from domestic
sector?

FaEd I &4F § F CO, I e & 7

(A) 1.5 mmt (BY 0.75 mmt

(Cy 2.5 mmt (D) 1.75 mmt

Which area was integrated in the last phase of
integration of Rajasthan?

(A) Ajmer (B) Bikaner

(C) Shahpura (D) Tonk

TR % IR0 o SHfe =0 o Bi=—d1 &l witwferd
fopar mar wn?
(A) 3™y
(C) smeg

(B) dm@mY
(D) <=

151 /\

68

69

70

71

What will be the value returned by the function =
ROUND (188.52, —1)?

TE B = ROUND (188.52, 1) 1 ST gm ?
(A) 188 (B) 189

(C) 190 (D) 200

Nitration of benzene is —

(A) Electrophilic substitution
(B) Nucleophilic substitution
(C) Electrophilic addition
(D) Free radical substitution
I H AZLIA & —

(A) TEITHC TioeeTas

(B) —gferraiitie® Fiqemas
(C) Foaiithies armers

(D) T q@h AR

Selegtgthe number group from the options which
is alike with the number group (2, 3, 5).

& Ty ferbedt # § S dEd @E @ 99 By S
HET WIE (2, 3, 5) % w9

(A) (3, 5,15 (BY (5,7.9)

(@) (547,11 (D) 3,5.9

Findthe missing number.

< e A iy

12 13 11
5 4 6

72

73

(A) 51
(C) 72

(B) 65
(D) 88

Which of the following colour of white light gets
least deviated by the prism?

{A) Green (B) Blue

(C) Yellow (D) Orange

= o 9 939 yamIe1 1 Hi—a1 9l iem | = faafaa
B B 7
(A) &1
(C) dren

(B) e
(D) A

Which schedule of Constitution of India is about
municipalities?

(A) 10t (B) 11t

(C) 12th (D) 13t

AL T4 & BT STl Tt & ar
777

(A) 10dF
(C) 129t

(B) 114
(D) 133
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80

Fill in the blank with the correct option.

They looking after orphans since 1980.
(A) have been (B) were

(C) are (D) had

Choose the correct antonym of the following word
from the options given below :

Knowledge

(A) ignorance (B) learning
(C) classic (D) unknown
Tepel’ wem & -

(A) aMyagamas g4
(B) Fyamaras ga=m
(C) wyTaras g
(D) TrErEETaS qeEaH

Anaemia preventing vitamins are —
(A) Thiamine and Riboflavin

(B) Riboflavin and Niacin

(C) Folic Acid and Vitamin B,

(D) Vitamin A and Thiamine
TFAI T UHAH & g T € —
(A) gEie 3T TgERITET

(B) eiveifad sfiv franfas

(C) it wfie ot faife 1,

(D) fqerfte u i emeghe

“HRTY Y @ R AW Aehi w1 Wel g —
(A) Tr8T S8 &M T BT

(B) emufg & @wg @S gErn o @27 e
(C) =i e T F@r B

(D) o9 &9 femmar st

When a computer is switched ony the booting
process performs :

(A) Reliability test

(B) Correct function test

(C) Integrity test

(D) Power on self test

W HELT T ofid FTd € A gl wed
HLA &

(A) femafafedl 2= (Reliability test)

(B) {ae has & (Correct function test)
(C) TRRY 2% (Integrity test)

(D) wigx & d9e% <& (Power on self test)

There is 10% loss if a watch is sold for ¥ 1440.
At what price it is to be sold to get 15% profit?
T L BT X 1440 F qE T 10% @ w0 g E
3 fopee v o @1 99 6 15% & @w B ?
(A) ¥ 1800 (By I 1840

(C) ¥ 1850 (D) T 1860
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31

82

83

34

85

86

Sariska Wild Life Sanctuary is located in the
state of -
(A) Madhya Pradesh (B} Rajasthan

{C) Gujarat (D) Haryana

gites a1 T e ey Teg F Rug &7
(A) 5 W3y (B) Trera=

(C) = (D) shagmm

What will be the area of the circle having
circumference equal to 56 cm?

(A) 216 cm? (B) 249.45 ¢cm?2

(C) 256.25 cm? (D) 216.15 ecm?

56 €A1 ufify A g9 B G=Ee @ B 7

(A) 216 g+ (B) 249.45 g2

(C) 256.25 a2 (D) 216.15 g2

Technique of using fixed English words for
machine code functions —

(A)fbinary translation (B) mnemonics

(¢) bogleanmalgebra (D) programming

qe DA S A HIs hav Bl fere ST o

% T I ¥ WEN % Wy § -
(A) =Eg<r gy (B) e
(C) FiTaa AT (D) W

Software used for file compression is -

(A) Winshrink (BY Winword
{C) Winzip (D) Winamp
FIgd HUYE H TN G A HeEA § -
(A) famfsiem (B) fomas

(C) femfofa (D) feroe

The angle of incidence for a ray of light having
459 as reflection angle is —

450 TG B AT TR TRt % fau smuae i
1 HA B -
(A) 450

(C) 60°

(B) 0°
(D) 90°

A liquid in a capillary tube rises to a greater height
than water. The reason is —

that of water.
(©)

Surface tension of the liquid is higher than
T® TGAT & TEH BRI & —
(C) T ® U8 T9E 97 & UL HH T

(A) Liquid is more viscous than water.

(B) The temperature of the liquid is higher than
The surface tension of the liquid is less than
that of water.

(D)
that of water.

Uh BT H S bl IS U A (F9) ATIH S

(A) T, I B YA AUk A §

(B) 9 &I 19 o ol amdEr e §)

(D) 9% & 4B TG S B STHET AfE T
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In September 2022, how many years did 'Make in
India' complete?

(A) 6 Years (BY 7 Years

(C) 8 Years (D) 9 Years

faaqeat 2022 % o 39 3f=ar & fhas @@ QL gU7?
(A) 6 @@ (B) 7 9@

(Cy 8 9@ (D) 9 9w

AYE = BN GIA BT —
(A) TEHT (B} wentE
(C) arfemebr (D) srdoTET

The average of 23 numbers is 21, If each number
is multiplied by 2, then what will be the new
average?

23 dweedt @ sftEa 21 ¥ afs wde de el 2 | o
femam =ma @1 =@ sied @ MY

(A) 21 (B)y 23

(C) 42 (D) 46

On 27" October, 2022,
celebrated in India.

(A) 74 (B) 76th

(C) 78th (D) 79th

27 aET, 2022 B ARG H 97 Uaet o (5h)
T mwmar T
(A) 74

(C) 78

infantry day was

(B)Y 76
(D) 79

If the radius of a sphere is doubled, what.is_the
ratio of the volume of original sphere“to that of
new sphere?

e T T I TR A dI TS a7 Adiah T TE
T M B AT BT AT TG 7

(A) 1:8 (B} 84

(Cy 1:2 (D) 2:1

The first annual session of Jaipur Rajya
Prajamandal was held during 8-9 May, 1938 under
the presidentship of
(A) Jamnalal Bajaj
(BY Kapoorchand Patni
(C) Heeralal Shastri
(D) Ghanshyamdas Birla
@l e 5 8-9 WY, 1938 & W SEYX
T GSHUSH &1 W SATUEe JR= 5|
(A) STHATATA S
(B) @qid= uE
(C) Frena e
(D) =FyaHeEE fagar

93

94

95

96

97

98

10

How many Agro Food Parks have been developed
by RIICO in Rajasthan?

el 7 TS | fhas T | uTeh feetad Ty ¥ 7
(A) 6 (B) 4

() 2 (D) 10

Select the number group from the options which
is alike with the number group (5, 12, 13).

& U famedl ¥ o9 dEmn wiE @ g B o
e /e (5, 12, 13) & @9 2|

(A) (3,4,5) (B) (7.9, 11)

(C) (6,8, 12) (D) (5,7,9

Which one of the following folk God was a cousin
brother of Ramdevji?
(A) Kesariya Kunwar (B) Tallinath

(C) Pabuji (D) Harbhuji

frfdfad & § &M 91 @i saa1 Heasil &AM
I

(A) ultEng et (B) ey

(Ot (D) wewstt

The largest "Baori' in Rajasthan which is located
at Jodhpur is named as -

(A) Chand Baori (BY Rani ki Baori
{C)“ldgah Baori (D) Nachan Baori
TR % ¥99 g9 aEsl | gy ¥ Rug g,

W AW H S AR E

(A) dTg ST (B) THr &1 SrEE!

(C) 35m® & FEer (D) AEd & 9ae

Fill in the blank with the correct determiner.
We can't make tea as there is milk left.
(A) a little (BY much

(C) any (D) lttle

A person is suffering from colour blindness. For
him which of the following statements is correct?
{A) The person can not see coloured objects
clearly.

The person can not distinguish between
certain sequence of colours.

(C) The person can see only white or black
objects.

(D) The person can see coloured objects but can

not see white or black objects clearly.

U adidd {(T9g AW (colour blindness) & Nfed #)

Tae o = & ¥ e e wé &0

(A) =R T aggsll &1 o T2 3@ w&arl

(B) eafert i LT @l Ao A it w98 e urdn|

(C) =i haa 99 A1 S8 1 &I 98Tl B 3@
7T 21

(D) wafrd Gl aegall @ <@ wran @ feeg 999 an
AW TRl Bl WE TE 3@ A

(B)
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Where is Footwear Design and Development
Institute set up in Rajasthan?

(A) Jaipur (B)Y Jodhpur

(C) Bundi (D) Kota

TR | Feamm? 59113 Uvs Saaui Sesge Hel
X Tfye e T ¥ Y
(A) YT

(©) 44

(B) Y
(D) aler

Mahaparinirvan Diwas of Dr. Babasaheb
Ambedkar is —

(A) 12 February (By 14t April

(C) 6™ December (D) 10 June

B, FETERT ATETH w1 qEATOE Gaw -

(A) 12 ®weEgl (B) 14
(C) 6 Taaay (D) 10 s
Which place is famous for 'Dabu Print'?
(A) Aakola (B) Balotra

(C) Bagru (D) Sanganer
‘g fliz’ & foru i a1 wne ulg #7
(A) &rmeBrar (B) sTARa
(C) I1& (D) Ty

Annie Ernaux awarded Nobel Prize for hér
contribution in which of the following fields?
(A) Medicine (B) Chemistry,

(C) Literature (D) Physics

A U @ EatEd g 3 9 feEd GNEN %
o e QTR @ SR g T e

(A) =fsfam (B) w@EA

(C) wie (D) e

In which battle was Jaswant Singh defeated by
Aurangzeb on 160 April 16587

(A) Battle of Deorai

(B) Battle of Samugarh

(C) Battle of Khajua

(D) Battle of Dharmat

16 silld, 1658 & ot fpat g o siiiaie + sradafiis
! B Y

(A) 8 & g

(B) @ryme &1 2

(C) @gar @1 -

(D) gwd @ g

151 /\ 1

105

107

108

109

104 wymERH graTe W 'Reference’ &1 &=y &9 & —

(B) Hesf
(D) ufider

(A) wfefa
(C) e

Ecosystem has two components —
{A) Plants and Animals

(B) Trees and Fungi

(C) Biotic and Abiotic

(D) Men and Hills

uiftfafie o= o < saga B ¥ -
(A) T TH 5

(B) S Ud %

(C) wifaes wd il

(D) 7w wETS

Which one of the following place is not associated
with Alar Civilization?

(A) Gilund (BY Bhagwanpura

{C)y Abhaneri (D) Rojadi

e & @ a9 @ @ oes aval ¥ g|had
L&

(A) s (B) wwmaEmga

(€) v (D) Tt

Chomp Cricket Stadium will be constructed in —
(A) Jodhpur (B) Jaipur

{C) Kota (D) Bikaner

T Thhe wisgW a=m™1 SO —

(A) tage o (B) wEqT o

(C) @i ¥ (D) s

The quadratic equation with one root (4/5-2)
is —
foema @t fger ww q@ (5 2) @1 & -

(A) x2+245x+1=0 (B) x2-245x—1=0

(C) x2-4x+1=0 (D) x> +4x—1=0

The minimum number of operational spacecrafts
required for global coverage is :

AP HALS & Ty =Aad fede fenanelia stafea oM
METE T 7
(A) 1
(C) 3

(B) 2
(D) 4
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Go through the passage very carefully and answer
the question given below :

In the past thirty years, drugs have been discovered
that prevent and cure physical disease and reverse
the disturbances that occur in some mental illness.
Excitement over what drugs can do has led people
to believe that any ailment, infective or psychic,
can be relieved by taking a pill. At the first sign
of nervousness, they try pep pills. Medical journals
now advertise tranquillizers, and other mood-
altering drugs; doctor prescribe them; and the
public expects miracle from them. In such an
atmosphere, it is not surprising that drug abuse
has spread.

People often believe that

(A) medicines can not cure all the diseases.
doctors can cure all the diseases.

medicines can cure all the diseases.

doctors can not cure all the diseases.

What should come next term in the following
number series?

frmfotaa den ooft § aren ue @& e arfsu ¢
| ] | |

]
LI » . 7
272723 246" 6427

1
® o

1 1
© 33 D) 1575

Which of the following river is not a tributary of
the river Krishna?

(A) Bhima (B)Y Purna

(C) Koyana (D) Musi

Friferd & & SIFET TS FON T iy FEEw TaT

e E7
(A) (B) quif
(D) =&

(C) mE

'Dilwara Temple' is located at -

(A) Sirohi (B} Mount Abu
(CY Sri Mahaveerji (D) Jaisalmer
FyeareT " fem & -
(A) Tauidr o

(C) &t weEts o

(B) Ae= ang H
(D) Sreeri #

‘TUAL 9T W S ST wiea Tasew st Enm -
(A) Safasi (B) sfafaiie
(C) uFet (D) efuffg
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116

117

118

119

120

115 What is the height of the 'Gandhi Sagar Dam"?

{A) 62 metres (BY 72 metres
(C) 45 metres (D) 26 metres
T GO qi B G fea & °
(A) 62 dr=zx (B) 72 ¥t
(C) 45 #rex (D) 26 Hr2T

In a row of 30 persons Sourabh is thirteenth from
left end and Gaurav is fifteenth from right end,
how many persons are there between Sourabh and
Gaurav?

30 =fermar 1 U U § 909 917 o JeEal aan
Mg a1 ST o UgEal &, € U TRa & 7 o
e €7
(A) 1
() 3

B) 2
(D) 4

Fill in thegblank with suitable preposition.

You, have to leave vour shoes the door
when vou, enter the house.

{(A) in (B} over

@) to (D) by

The main objective of the forest development
programme "Harit Rajasthan” is :

{A) Afforestation

(B) Animal husbandry

(C) Ground water recharge

(D) Dairy development

T o g BT TS S e 3599 H1 6 7
(A) g% T

(B) wyy wmes

(C) gorer gefer

(D) =Tl faw™

What point on y-axis is equidistant from the points
(7, 6) and (-3, 4)?
y-318 W s fag, fgat (7, 6) 9an (-3,4) ¥

g § 7
(A) (0, 10) (BY (0,5)
(C) (0, =15) (D) (0, 15)

The value of 12502255 s .
12508255 o wr &
(A) 5

1

(©) 3

(B) 545

(D) 25
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121 Where is Dhoolkot situated?
(A) At Kalibanga (B) At Balathal

(C) At Bairath (D) At Ahar
gere el ford & 7

(A) e o (B) wmamea |
(C) 4we ¥ (D) wes o

122 The main objective to launch 'GAGAN' satellite is
to provide an accurate :
(A) Navigation
(B) Weather forecast
(C) Disaster management support
(D) Land and water resources
AT T Bl ETd B B Y 3599 SHAEd HIAT
¥ e -
(A) ug wEsH
(B) Hrew qatgam

(C) IS YT Hag

(D) 9fT wd o Hew 128

123 Samai Mata region will be developed as tourist
attraction center. It is situated in —
(A) Alwar (B) laipur
(C) Banswara
THTE HTT & Hl TUeH YT HR & T H faemiad
femar o) Tw fem ¥ -
(A) orray o (B) &gy H
(C) wigamst § (D) wEqX u

124 Where is Central Sheep and Wool Researth
Institute set up in Rajasthan?
(A) Avikanagar (B} Bikaner
(Cy Jodhpur (D) Osia
TR ¥ e US Ud & 9y W waEl g
fepar mar % 7
(A) HTHHTT
(C) siayx

(B) @™t
(D) =i

125 DPT is not a vaccine for discase,

(A) Polio (B)Y Whooping cough
(C) Tetanus (D) Diphtheria
i) Jrepr 1 &% fg @l wran #)

(A) diferr (B) @Il @

(C) e (D) fewehifean

126 If a Panchayat is dissolved, elections are to be
held within —
(A) One month (B} Three months
(C) Six months (D) Immediately
afe durg faafea o & sl &, @ g9 w@E
AT
(A) U% WIE % IR
(C) ©: ¥T% & &t

(B) = WTE & oY
(D) deha

151 /\ 13

127 tr=faiag &1 gaiag ®ifgl
A

(D) Bharatpur 120

130

B

(i) o uiyfaal & g
T e 9=l

(i) TR T |

(iii) T UATAE ¥ HHHE a1
srelieg srfaepTreal o
HHTN AT Bl GraTLor HesT
3 % foro foan o
T T |

4. @A (iv) TSI o WMy gE
1 23 4

(A) (i) () (v) (i)

(B) (i) (i) (iv) (i)

(C) )y vy @iy ()

(D) (v) (i) (i) (D)

. sgEs

2. ofes
3. AftgEe

The sum)of all the angles about a point is —
U T4/ TS Al @ BT B A B & -
(A)0° (B) 90°

(C), 1809 (D) 360°

What ds 'Crawling death'?
(ADeath of wild life

{B) Degradation of forest

(C) Death of microorganisms
(D) Degradation of soil fertility
I gy @ &7

(A) 9 et & 9g

(B) =i &1 g1

(C) ge el & Hg

(D) 921 ISt & B

Which of the following statements is not mentioned

in the chapter on fundamental duties?

(A) To abide by the Constitution,

(B) To value and preserve the rich heritage of
our composite culture.

{C) To practice and propagate the message of
freedom fighters.

(D) To uphold and protect the sovereignity, unity
and integrity of India.

Frafaflad wudl § 4 @H—a1 suF Hifds adal &

ey § aftie 8 ¥ 7

(A) dfau™ o aed BT

(B) =9 |t TRpTA B TG 9O B Aed
THE ST I ATLE B

(C) wac=ar d-T-El % TRl B U B g SR
T Hw{AT|

(D) W I THAT, That ST STESAT Pl & B AT
TE AU W |
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'‘Atal Bridge' which was inaugurated by P.M.
Narendra Maodi on 27-8-2022 is built on which
river?

(A) Narmada (B} Sabarmati

(C) Brahmaputra (D) Chambal

27-8-2022 &) 94T A AL HId g1 3gEied fean
Tl s g fopm 9l ud g B 7

(A) T (B) w=Tw

(C) =g (D) T

What is the 4th proportional in 9, 13 and 1537
9, 13 wd 153 &1 9gy SHHURT F= & 7

(A) 251 (B) 181

(€) 175 (D) 221

Who was the first Indian woman to climb Mt
Everest and Mt. Makalu who died recently in an
avalanche on 4™ October, 20222

(A) Savita Kanswal (B) Santosh Yadav

(CYy Anshu Jamsempa (D) Shivangi Pathak

A T U "I Tele 9T 961 atdl 799 9™
afee, Fae 4 e, 2022 @ ey ¥ 35 9
T, ®E Y

(A) Wi Hear
(C) ofyy SmaEe

(B) wamw Tmag
(D) Tyrarir aTe®

Judicial review in the Indian Constitution is
based on —

(A) Procedure established by law

(BY Due fair process of law

(C) Rule of law

(D) Precedents and conventions

ARAE Waue § e JIIasieT STaid, & -
(A) fafy gm0 wnfe whiear @

(B) fafyr = staa gfear o

(C) fafy =1 sme= 1

(D) & fom et qiueh ==

Which of the following awards has not been
proposed to best performing enterprises in
Rajasthan under the MSME Policy, 20227

(A) Women entrepreneur

(BY ST/SC entrepreneur

(C) Outstanding process / product innovation
(D) Product quality improvement

e o 9§ a1 g TSR H UH.UE.TE g, A,
2022 % SFld FETH B BT AT SWHAT 2g WA
T Y

(A) wfgem See

(B) orfgfea St [ ATEEd S & geHt

(C) SEmEmy YihdT [ IaTE &1 &R

(D) T MU GO

136

137

138

139

140

141

14

In which city of Rajasthan the Desert Afforestation
Research Station was established in 19527

{A) Bikaner (BY Jodhpur

{(C) Jaisalmer (D) Barmer
T % [ 98T § 1952 ® 7% e oy T
T W B T Y7
(A) dFT

(C) SEemT

(B) gy
(D) T

On which date is the festival of 'Harivali Amavasya’
celebrated?

(A) Shravan Amavasya

(B) Falgun Amavasya

(C) Kartik Amavasya

(D) Ashada Amavasya

FEAT e @ gd e Tty el 9w S 27
(A) HmEu SHEEn

(B) AT STHIEET

(C) HIfde amamEsn

(D) aran

Chaese the correct synonym of the following word:
dread
{A)y fear

(@) angry

(B) sorrowful
(D) scarce

Hornbill Festival was inaugurated by Vice
President in —

¢A) Meghalaya (B) Nagaland

{C) Tripura (D) Mizoram
IUASZART BT BT Sd @l 9gdTed fhar T -
(A) Hame o (B) ArTes o
() %lgﬂ H (D) P o

Who is the author of '"Marvar Ra Pargana Ri Vigat'?
(A) Veerbhan Ratnu

(B) Dayal Das

(C) Muhnot Nainsi

{D) Suryamal Misran

AErs 0 gomn O fara e e e

(A) FamT T

(B) =ume T ™

(C) TEomer or

(D) wEwew faso

Through which one of the following groups of
states, does the river Chambal flow?

(A) Madhya Pradesh, Rajasthan, Delhi

(B) Madhya Pradesh, Rajasthan, Haryana

{C) Madhya Pradesh, Rajasthan, Gujarat

{D) Madhya Pradesh, Rajasthan, Uttar Pradesh
e e tefied f6g Teo-aE ¥ et yared
B B Y

(A) 7=g W3,
(B) =em wal,
(C) 7= Wy,
(D) W& W,

TeTe, fEetl
TR, BheTon
T, TEd
T, ST ALYT
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Which protocol is used for file transfer? 147
(A) FTP (BY HTTP
(Cy POP3 (D) HTTPS
BF U Wi & FA6 HEA & SEN FaE H e
W E 7
(A) T® (B) maErdrdr
(C) drandr3 (D) Tadr T arud

148
The first mid term elections were held in Rajasthan
due to dissolution of :
(A) Fourth Assembly
(B) Sixth Assembly
(C) Seventh Assembly
(D) Third Assembly
HEA-H fgaE | T T % SR TSR § uEH
AT g9 gu ?
(A) =t faum = 149
(B) =dl Tqum™ @
(C) @rdf faam e
(D) dEd faam ww
Rajasthan was divided in how many princely states
at the time of independence?
TSl WA % TFd TeraE fhae gel Ramgait o
fern o ?
(A) 15 (B)y 18
() 19 (D) 22
The Election Commission of India ‘(ECI) has
named who as its "National Icon"? 150
(A) Amitabh Bachchan
(B) Pankaj Tripathi
(Cy Amir Khan
(D) Sonu Sood
A & A A (SEeTS) A ReE o uEE
Tl (A9Hd SMgeA) T femar B 7
(A) srfEry seq
(B) ueRa fruTer
(C) anfur @m
(D) &1 q3
Verdana is a type of :
(A) Font Style (B} Font Size
(Cy Font Alignment (D) Font Art
qEET I W E
(A) i s (B) Thive TBIT
(C) wi= "@@m (D) i< &
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Piplad Drinking Water Project is related with -
(A) Ajmer (B)Y Jhalawar

(C) Jodhpur (D) Pali

ToeTE TaeT AT o g § -

(A) X ® (B) wimaTs ®

(C) siugr & (D) ol

Which city of Rajasthan is known as the biggest
woollen mart in India?

(A) Barmer (BY Jodhpur

{(C) Jaisalmer (D) Bikaner
TR & HF—F1 $18X Ad § Ta9 95 T & el
% T H AT AT E 7
(A) =reHY

(C) @t

(B) siterge
(D) ST

First major irrigation project in India, in which
sprinklermirrigation system has been made
matidatory in entire command area -

{A) Narimada Canal Project

(B) Jalkham Project

(C) Mahi - Bajaj Sagar Project

(DIBisalpur Project

3, oty e ol e 1 TE E, 9% b -
(A) &1 T5X UrEEreH

(B) Sr@m uiEe

(C) ATl — g9 e A 9

(D) faEeqx ardse

Which one of the following statement is correct?
(A) Mean of A = Mode of C

{B) Mean of C = Median of B

(C) Median of B = Mode of A

{D) Mean, Median and Mode of A are equal
A Bud C, X % il % oF wg=g ¥
A:2,3,7, 1,323

B:7.59 12,5,3, 8
C:4,4,11,7,2,3. 4

o 4 8 @ | eud w @7

(A) A @l 5ied = C &l dgd

(B) C &1 51tg = B &l Hiftaehr

(C) B @ wiitgsr = A &1 9g0®

(D) A % Aren, Wit Ud AgAs a9 §
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